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Q-1 (A) IfFA=(1,2568,B={246 10 1}andC ={1,2,3,5,6, 11, 12} then prove [08]
that _ ,

(1) AU(BN C) = (AUB) N (AUC)

(2) An (BUC) = (AN B) U (ANC)
@1 @ f4 = F 5} and 8 = {4 5} then verify that [0°]

12 3 4
(1) (A+B)T = AT + BT (2) (AB)' = B'AT
OR

Q-1 (A) IfA={0,21,8={203)andC={30,4},U={3,-2,-1,0,1 2, 3} then find [08]

(1) AN B (2) B-C (3) B' (4) A' (5) (AUB)' (6) A’ B' '
Q-1 (B) Solve the system of equations using inverse matrix. ' [09]
| Ix-2y+z=2, x+3y'—2z=2; 2x—y +z=2
Q-2 (A) Déﬁne the terms with example - _ . [06]

(1) Square matrix (2) Unit Matrix (3) Transpose of a matrix.
Q-2 (B) The population of a city atpresent is 49949, which were 35493 before 7 years. Find [06]
out the rate of growth of pepulation. _
(-2 (C) What is an aggregate amount for Rs. 4000 at 12% rate of compound interest for 3 [06]
years, if the interest is compounded,
(1) Annually (2) Semi Annually.

: OR
Q-2 (A} _ 3021 o 1 3 4 _ {06]
fA = |—-1 2 3iand 5 = 2 4 1] thenfind AB and BA.
11 4| -1 2 3
Q-2 (B) Find the equation of the line passing througﬁ the points A(xs, v4) and B(xz, yz). [06].
Q-2 (C) Findnif | [06]

(1) ,-,Pa, = 840
(2) Pa=12 P2
Q-3 (A) Huy=-5uz=-1Us=6,us =17, us = 243 and the fourth differences are constant then [09]
find uz and u;.
Q-3 {B) Frém the digits 4, 5, 6, 7, 8, 9, how many 4 digit numbers can be formed? Out of [08]
them how many are (1) odd numbers (2) > 7000 (3) even numbers.

OR
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Write the assumptions and uses of interpolation and extrapolation.

Solve the foilowing transportation problem by VAM.
A B C D Pemand
P 15 10 17 18 {2
Q 16 13- 12 13 6
R 12 17 20 11 7
Supply | 3 3 4 5
Find dy/dx if
(y=4x"-3 +x-8
@) p= ¥l
X5 —35x+06
(3) v=logx-5°

Find the area of quadritatéral formed by the points A(1, 6), B(5,2), C(12,9) and
0(8,13)

OR
Usé graphical method to solve the following LPP.

Max Z = 3x,+5%,
s.t.
Ik + 2%, < 18,
X1 S4, %26, %, X2 2 0

tflog50 = 1-8990, log58 = 17634, log60 = 1-7782 then find the value of log55.
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DA={1,2,5,6,8},B={2,4,6,10, 11}21a C={1,2,3,5,6, 11} S A [08]
Alld 52 5

(1) - AUBAC) = (AUB) ~ (AUC)

(2) An (BUC) = (AnB) U (AN C)

35 14 5 . '
g A = L ) 2o L :_L 4@9‘4@?45@% [0°]

(1) (A+B)T=AT+BT
(2)  (AB)T=BTAT

24|

9 A={0,2}, B={-2,0,3} »1a C={-3,0,4}, U={3,-2,-1,0,1,2,3} [08]
gl dl

(AnB@)B~-C(3) B' (4) A' (5) (AUB) (B) A" B'

ofldatl Hallsze0al cazdéﬂy&rﬂ 314 GsA). ' 09]
IX-2ytz=2, x+3y-2z=2 2x-y+z=2

oflRAotl YEIQ Belsi A[Ba calvalua s, [06]
(2) U &flis () AsH Alwis (3) uhud Alis

Ag bl sl azdl wecwe 8. 2ia dy 249180 g2d] 3uwee adl. A {08]
2t 2820 gl gnRioll €2 2MEN.

31, ¥,000 of A% ot €2 UsYRE @F ASIG S2UIHT 241D B, A 3 adell [06]
2id Szal 3l ua #HOl 9) uell aiia] (1) adui 29841R (2) adyi o
Al sedii 21197

28]
3 21 1 3 4
a4 = 72 308 12 Tee g ABuia BASA).  [06]
31 4 -1 23 :
[Gigail A(x,, y,) 21 B(x,, y,) #igll vaire adl 22uilg] 2efls2e <. [06]
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Yal-3 ()

Usol-w (%)

ysat-w {of)

| ysol-x ()

usol - (Of)

oflDall #12 nofl (Bxa <M.

(1) P4 = 840
(2) P, =12 P,

D u,=-5,u,7-1,u,=6,u,=17, U= 23 8l dl den UG dasidd 2N

8 il Uy el u, M,

4.5 6,7,8 »id 9 o Gualal sl Sedl uR issid AuyA) olaticl]
aisia? Sariell 3ecl] dvail (a) D8 62 (2) 7000 sai #él 827 (3)

Al vl 827
eI
2icRAglot pol w(BA=Toiol) GiREH 240 GUAN cvl.

of13eti dlgoicacisiRell Wraisl VAM &fl GSa.

P Q R .8 Hi2l
A 15 10 17 18 2
8 16 13 12 13 6
c 12 17 . 20 i1 7
yrasl |3 3 4 5
dy/dx sod). ,
(1} y=4x*=3x* + X~
x?—dx+3

2y y=-——
2)) X" =5x+6

(3) y=logx-5"

A1, ), B(E, 2), C(12,9) »id D(8, 13) &l clolai ugpesivig) @ga

RO
Y

ofl ot 2201 lilgotall Usaiol) vilAutoll d B3¢ Aadl.,
Max Z = 3x,+5%,
5.1

3x4+ 2% < 18,

X1§4, Xz = G, X4, XQ_ZO

%) jog5s0 = 16990, log58 = 1-7634, log60 = 1- 7782

ofl Bya Rodl,

gl ) log55
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